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UG/2nd Sem/G/20(CBCS)

2020

PHILOSOPHY (General)
Paper : PHIG DC-2/GE-2

(Western Logic)
(CBCS)

Full Marks : 32 Time : Two Hours

The figures in the margin indicate full marks.

Section - I

Answer anyone of the following questions : 16×1=16

1. What is Opposition of Propositions? Explain different types of opposition of
Propositions with example. 4+12=16

2. Use truth table to determine the validity or invalidity of the following arguments/
argument forms : 4×4=16

(a)  U V W 

 . /V W U U  

(b)  P q r 

/q r P 

(c)  R S T 

     . / .T R S R S R S   

(d) M N

/M M N 
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3. State and explain the Method of Agreement. Is it a method of proof? Explain.
12+4=16

Section - II

4. Answer any one of the following questions : 8×1=8

(a) Test the validity of the following arguments by means of Venn diagram :
4+4=8

(i) AII - 3

(ii) Plato is a Greek. He is a Philosopher. Therefore some Greeks are
Philosophers.

(b) What is meant by ‘existential import’ of proposition? Explain with examples.
8

Section - III

5. Answer any four of the following questions : 2×4=8

(a) When is a term of a categorical proposition distributed?

(b) What is conversion?

(c) Distinguish between contrary term and complementary term.

(d) What is enthymeme?

(e) What do you mean by truth functional proposition?

(f) What is substitution instance?



Page : 3 of 4

îDy %̃îy”

!î¦þy† éôé „þ

!˜Á¬!œ!…“þ öë ö„þyöì̃ y ~„þ!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ­ 16×1=16

1Ð î‰þöì̃ îû !îöìîûy!•“þy „þyöì„þ îöìœÚ vþz”y£îû’ ¢£öìëyöì† !î!¦þ§¬ ²Ì„þyîû !îöìîûy!•“þyîû îÄy…Äy „þöìîûyÐ
4+12=16

2Ð !˜Á¬!œ!…“þ ë%!_«/ë%!_«éôéxy„þyîû=!œ ¢“þÄ¢yîû’#îû ¢y£yöìëÄ ÷î•“þy/x÷ìî•“þy !î‰þyîû „þöìîûyÐ
4×4=16

S„þV  U V W 

 . /V W U U  

S…V  P q r 

/q r P 

S†V  R S T 

     . / .T R S R S R S   

S‡V M N

/M M N 

3Ð x^é»ëû# þ™kþ!“þ vþz”y£îû’ ¢£öìëyöì† îÄy…Äy „þöìîûyÐ ~£z þ™kþ!“þ !„þ ²Ì›y’ þ™kþ!“þÚ xyöìœy‰þ˜y
„þöìîûyÐ 12+4=16

!î¦þy† éôé …

4Ð !˜Á¬!œ!…“þ öë ö„þyöì̃ y ~„þ!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ­ 8×1=8

S„þV !˜Á¬!œ!…“þ ë%!_«=!œîû ÷î•“þy ö¦þ˜!‰þöìeîû ¢y£yöìëÄ !î‰þyîû „þöìîûy ­ 4+4=8

(i) AII - 3
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(ii) ö²ÕöìÝþy £˜ ~„þ‹˜ @ùÌ#„þÐ !“þ!˜ £˜ ~„þ‹˜ ”yŸÅ!˜„þÐ ¢%“þîûy‚ ö„þyöì̃ y ö„þyöì̃ y @ùÌ#„þ
£ëû ”yŸÅ!˜„þÐ

S…V î‰þöì̃ îû òx!hßþc›)œ„þ “þyêþ™ëÅó îœöì“þ „þ# öîyGþyëûÚ vþz”y£îû’¢£ îÄy…Äy „þöìîûyÐ 8

!î¦þy† éôé †

5Ð !˜Á¬!œ!…“þ öë ö„þyöì̃ y ‰þyîû!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ­ 2×4=8

S„þV „þ…˜ ~„þ!Ýþ !˜îûöìþ™Çþ î‰þöì̃  ~„þ!Ýþ þ™” îÄyþ™Ä £ëûÚ

S…V xyî“Åþ˜ „þyöì„þ îöìœÚ

S†V !îþ™îû#“þ þ™” ~î‚ þ™!îûþ™)îû„þ þ™öì”îû ›öì•Ä þ™yíÅ„þÄ „þöìîûyÐ

S‡V ¢‚!Çþ® ˜Äyëû „þyöì„þ îöìœÚ

SˆV ¢“þÄyöìþ™Çþ î‰þ˜ „þyöì„þ îöìœÚ

S‰þV ²Ì!“þßþiyþ™˜ ”,ÜTyhsþ „þyöì„þ îöìœÚ


